Calcular Porcientos (H)

Calcule el porciento o valor que se pide.

- ¢5.880 € es el 98% de qué 2.

cantidad?

. ;611 €esel 26% de qué 4.

cantidad?

- 322 € esel 23% de qué 6.

cantidad?

. ¢845 € esel 26% de qué 8.

cantidad?

. ¢2.754 € es el 81% de qué 10.

cantidad?

:3.002 € es el 38% de qué
cantidad?

;3.699 € es el 54% de qué
cantidad?

:2.037 €esel 21% de qué
cantidad?

:1.677 € esel 65% de qué
cantidad?

:2.379 € es el 30% de qué
cantidad?
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Calcular Porcientos (H) Respuestas

Calcule el porciento o valor que se pide.

- ¢5.880 € es el 98% de qué
cantidad?
6.000 €

- (611 € esel 26% de qué
cantidad?
2.350 €

. (322 €esel 23% de qué
cantidad?
1.400 €

. (845 €esel 26% de qué
cantidad?
3.250 €

- ¢2.754 € es el 81% de que
cantidad?
3.400 €

- ¢3.002 € es el 38% de que

cantidad?
7.900 €

- ¢3.699 € es el 54% de qué

cantidad?
6.850 €

- ¢2.037 € esel 21% de que

cantidad?
9.700 €

- ¢1.677 € es el 65% de qué

cantidad?
2.580 €

- ¢2.379 € esel 30% de qué

cantidad?
7.930 €
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